
��

/$03,5$1



��

3('20$1:$:$1&$5$

'DWD ,QIRUPDQ

1DPD �
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-DEDWDQ �

$ODPDW �

$� $SD�6DMD�3URJUDP�\DQJ�GLODNXNDQ�2WRULWDV�-DVD�.HXDQJDQ��2-.� 5HJLRQDO���
GDODP�PHQJDWDVL�NHJLDWDQ�SHQJHORODDQ�LQYHVWDVL�LOHJDO�GL�SURYLQVL�.DOLPDQWDQ�
6HODWDQ�"
�� 6DODK� VDWX� WXJDV� SHQWLQJ� 2WRULWDV� -DVD� .HXDQJDQ� �2-.�� 5HJLRQDO� ��

DGDODK� PHPEHULNDQ� HGXNDVL�� DSD� VDMD� SURJUDP� HGXNDVL� WHUVHEXW� GDODP
PHQJDWDVL�NHJLDWDQ�LQYHVWDVL�LOHJDO�GL�.DOLPDQWDQ�6HODWDQ"

�� %DJDLPDQD�EHQWXN�SURJUDP�WHUVHEXW�GDODP�PHQJDWDVL�NHJLDWDQ�LQYHVWDVL�
LOHJDO�GL�.DOLPDQWDQ�6HODWDQ�"

�� %DJDLPDQD� SHUNHPEDQJDQ� SURJUDP� WHUVHEXW� GDODP� PHQJDWDVL� NHJLDWDQ�
LQYHVWDVL�LOHJDO�GL�.DOLPDQWDQ�6HODWDQ"

�� %DJDLPDQD�WDQJJDSDQ�PDV\DUDNDW�WHUKDGDS�SURJUDP�WHUVHEXW�"
�� $SD�VDMD�NHQGDOD�\DQJ�GL�KDGDSL�OHPEDJD�2WRULWDV�-DVD�.HXDQJDQ��2-.��

5HJLRQDO���GDODP�PHQMDODQNDQ SURJUDP�WHUVHEXW�"
�� %DJDLPDQD� SLKDN�2WRULWDV� -DVD�.HXDQJDQ� �2-.��5HJLRQDO� ��PHQJDWDVL�

NHQGDOD�NHQGDOD�WHUVHEXW�"
�� %DJDLPDQD�GDWD�PHQJHQDL�MXPODK�OHPEDJD�LQYHVWDVL�LOHJDO�GL�.DOLPDQWDQ�

6HODWDQ�"
%� %DJDLPDQD� SHUDQ� SHQWLQJ�2WRULWDV� -DVD�.HXDQJDQ� �2-.��5HJLRQDO� �� GDODP�

PHQJDZDVL� GDQ�PHQ\LNDSL� NHJLDWDQ� SHQJHORODDQ� LQYHVWDVL� LOHJDO� GL� SURYLQVL�
.DOLPDQWDQ�6HODWDQ�"
�� 'DODP�UDQJND PHQJDZDVL�NHJLDWDQ�LQYHVWDVL�LOHJDO��DSDNDK�2WRULWDV -DVD�

.HXDQJDQ� �2-.�� 5HJLRQDO� � PHPLOLNL� VDWXDQ� NHUMD� NKXVXV� GDODP�
PHQLQGDN�ODQMXWL�PHQJHQDL�LQYHVWDVL�LOHJDO�WHUVHEXW�"

�� $SD� VDMD� WXJDV� GDQ� ZHZHQDQJ� GDUL� VDWXDQ� NHUMD� WHUVHEXW� "� EDJDLPDQD�
JDPEDUDQ�GDQ�PHNDQLVPHQ\D�GDODP�PHQDQJDQL�LQYHVWDVL�LOHJDO�"

�� 6HWHODK� DGDQ\D� VDWXDQ�NHUMD� \DQJ�EHUJHUDN�NKXVXV�SDGD�NDVXV� LQYHVWDVL�
LOHJDO��DSDNDK�PHPEHULNDQ�GDPSDN�\DQJ�EHVDU�WHUKDGDS�MXPODK�LQYHVWDVL�
LOHJDO�GL�.DOLPDQWDQ�6HODWDQ�"

�� %DJDLPDQD�SHUDQ�RWRULWDV�MDVD�GDODP�PHQ\LNDSL�ODSRUDQ�ROHK�PDV\DUDNDW�
WHQWDQJ�NHJLDWDQ�LQYHVWDVL�,OHJDO�"
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�� 6HWHODK� PHQHULPD� SHQJDGXDQ�ODSRUDQ� PHQJHQDL� LQYHVWDVL� LOHJDO� GDUL�
PDV\DUDNDW�� DSDNDK� ODQJVXQJ� PHPEHULNDQ� WLQGDN� ODQMXW� DWDX� DGD�
SURVHGXU�WHUOHELK�GDKXOX�"

�� %DJDLPDQD�GDWD�SHQJDGXDQ�ODSRUDQ�PDV\DUDNDW�WHQWDQJ�LQYHVWDVL�LOHJDO�GL�
.DOLPDQWDQ�6HODWDQ "
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1DPD � .KDLUXQQLVD

7HPSDW� 7DQJJDO /DKLU � .DPSXQJ %DUX� �� 'HVHPEHU ����

$JDPD � ,VODP

6WDWXV 3HUNDZLQDQ � %HOXP 0HQLNDK

.HEDQJVDDQ � ,QGRQHVLD

$ODPDW � -O� %HUXQWXQJ %DUX 5W��� 5Z��� 1R� �� NDE�

%DQMDU .DOLPDQWDQ 6HODWDQ

3HQGLGLNDQ � x 7. 5DXGKDWXO $WKIDO

x 0,1 .DPSXQJ %DUX

x 076 3HPEDQJXQDQ

x 60$1 � %HUXQWXQJ %DUX

x 6�� 3HUEDQNDQ 6\DULDK

)DNXOWDV (NRQRPL GDQ %LVQLV ,VODP

8,1 $QWDVDUL %DQMDUPDVLQ

3HQJDODPDQ 2UJDQLVDVL x +0- 3HUEDQNDQ 6\DULDK ��������� �6HNUHWDULV

%LGDQJ .20,1)2�

x /30 $1$/,6$ ��������� �$QJJRWD %LGDQJ

'HVDLQ *UDILV�

2UDQJ 7XD

$\DK � +DLWDPL

,EX � 1RRU +LGD\DK

-XPODK 6DXGDUD � � �GXD�



��

'2.80(17$6, 3(1(/,7,$1



���



���



���



���



���



���



���



���



���



���



���



���



���



���



���



���



���


